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[16] The sixteenth question. When the terminal point in each twelve years returns to the
very same sign among the twelve signs, and the very same place, and the lord is the very
same planet and the position whose lord it was in the base-nativity is the very same, then is
it necessary that the conditions which the sign of the terminal point and its lord indicated by
the reckoning of its position in the base-nativity in every 12 years (are), according to this, the
very same conditions ?

The answer. One does not draw an indication only from the terminal sign and its lord nor
from its position in the base—nativity only for the conditions of the revolution, because one only
uses the indications from its position at the time of the revolution, and the sharing of the plan-
et with it in their conditions and in power. Because when we wish to revolve the year of the
native, we only consider the terminal sign and its lord, how its conditions are in the base—{na-
tivity) and how its conditions are at the revolution, and from the planet sharing in power.
These conditions are hardly returning as exactly the same in the years of the lifetime. And the
governor who is not the lord of the revolution also mixes in this, that is to say, some of those
who return the slander against astronomy — whom Abu Ma'Sar has mentioned in his Book on
the Revolutions of the Years — produce the nativity of a young man and the nativity of an old
and weak man according to movement, and they attribute this to some astronomers without
knowing well how many years have passed for him so that one judges what is searched from
the indications of year by what is not appropriate for an example of the years of the youth or
by what does not conform to the hoary old man. So they make a mistake in this, and they
blame the art of judgements because of this. So there comes about, when we want a revolution
of a year, observation of age of which planet among the planets it is. E.g. if you wish to re-
volve twenty years for the nativity, and this age is under the governance of Venus, then it is
necessary for him to request the question of marriage and attainment of puberty and move-
ment in this, and this is in the year of the terminal point for 20 years, and its lord is single
and the governance for this belongs to Mercury, and the condition of the lord of the eighth
(place) is a sharing of Mercury with it, in contrast to the condition of the sharing of Venus

with it, because this is what the difference of its state requires for it.

[17] The seventeenth question. When the indications of the year at the revolution altogeth-
er are in the indications of the first month, then is it necessary that everything which is
judged for that man is in that year, and likewise judged in the month, since the indications of
the month are in the first month ?

The answer. The indications of the first month are corresponding to the indications of the
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year, since the indications from the base-nativity drive a year for every rising degree, and six
days for every minute, then in the first month of the year the indications terminate at posi-
tions at which they do not terminate in other years. E. g. if you convert the years of the nativ-
ity into days, and give to each planet seven days, and you begin with the lord of the ascen-
dant, then the governance in the first month terminates in indications separate from the
indication for the first month and in it, without the other years, and the indication of the sev-
enth (1/7) also (is) for the first month. Then, if these indications share it with the five basic
indications which is (one) of the indications of the year and the cardines, especially the medi-
um celum, indicate the first month. If one of them indicates in the revolution of the year some-
thing which is not in the first month, this indication is in the month. As for the indication of
the governance in the first month, one looks at the five basic indications without one of them
being the ruler of the indication. E. g. the lot of fortune is in the ascendant, and the terminal
point from the ascendant of the base and from the lot of fortune is one sign and the ascendant
of the revolution of the year is that sign and the lot of fortune is in them for the revolution
and that sign is tropical, then, if the indications agree with some of them, this alone is ruler of

the first month.

[18] The eighteenth question. When prorogation arrives from a degree of the ascendant or
from the haylag to a body of a benefic or to its trine or its sextile on a {particular) day, then
you revolve / prorogate the indications of the year from the terminal sign or another {sign),
and they arrive on that day at a body of a malefic or its quartile or its opposition, on which
condition does the judgement happen ?

The answer. The indication which the base-nativity indicates is stronger than the indication
which the revolution indicates. So, when the example of this prorogation agrees — and this is
operated in such a way that it is divided into thirds — then it indicates at the beginning of the
day good fortune, and in its middle or its end, bad fortune, and the benefic which results from
the prorogation of the base, belongs to the old reasons, and the malefic on which the revolution
is based, belongs to the reasons which are not taken into consideration, or belongs to what
confides in itself.

If the prorogation arrives one hour at what we described before, the happening which be-
longs to the indication of the base-nativity is stronger, and therefore it indicates a benefic, it is
necessary that good fortune happens for the reason by which the knowledge came before, and
by which its appearance (wagh) was known from the way it comes, and when the indication

of the revolution arrived in this hour at a malefic, it indicates a thing (or ‘badness’) in itself
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and surprise and this hour is hindered, and the breast is oppressed. Then what the good for-
tune indicates is because of the base indication. If it is opposite, do opposite to the statement

concerning this.

[19] The nineteenth question. When you are asked about a question and you want to know
the mubtazz (predominant planet) over it and what is the method of it, {what do you do) 2.

The answer. Many astrologers of this time, when they are asked about a question, look at
the ascendant and make the lord of the ascendant the indicator of the inquirer, and the indica-
tor of the present place and the indicator of this matter, but these are both wrong. Even if it
is right, the lord of the ascendant is used in {any question) other than nativities and one does
not seek the haylag and use the lord of the ascendant in revolutions, and one does not seek
the terminal sign. It is necessary, in seeking the indicator, only to see which of the planets is
predominant over the question — the one with the majority of witnesses is the mubtazz (pre-
dominant planet) and indicator, and this is done by beginning with the lord of the ascendant,
and, if it aspects its house or its exaltation or its term or its triplicity, then you take it as an
indicator after it is in a position in which it has a dignity. If it is not like this, then look at the
lord of the exaltation of the ascendant or the lord of its term, or the lord of the triplicity (to
see) if this is in the condition which we have described in respect to the matter of the lord of
the house (ascendant). If it is not like this, then see which planet is strongest in its position, i. e.
you give to the lord of the house five strengths, to the lord of the exaltation four strengths, to
the lord of the term three strengths, to the lord of the triplicity two strengths, and to the lord
of the decan one strength. Some of them put the lord of the triplicity before the lord of the
term. If a planet is in its house and another planet is in both its term and its exaltation, it is
more powerful than that which is in its house. If they are both equal in strength, see which of
them aspects its house, exaltation and term or one named by it, and this is the indicator. If
they are also equal in this case, see which one is quicker in transferring to a condition which

is better, and this one is the indicator and mubtazz (predominant planet) of the question.

[20] The twentieth question. When you are asked about two affairs which are of equal sig-
nificance, like a claim, dispute and a peace-treaty, for which do you take the indicator of the
ascendant or which is more deserving than the other ?

The answer. The ascendant is the indicator of the beginning in a matter, and the seventh,
the indicator of the end, and the medium celum, the indicator of what is between the two. If it

(the question) is a dispute, it (the indicator) is the indicator of the judge, if it is prosecution,
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it is the indicator of the partisans in that, and if it is fighting, it is (the indicator of) the rea-
son for that, and if it is a peace-treaty, it is (the indicator of) the reconciler between them,
and the fourth place is the indicator of the outcome of this matter. One can draw an indication
concerning this also from the Moon, and one makes the indicator of what is in between the
two and from which the Moon separate the indicator of the beginning of the matter, and the
planet to which the Moon applies the indicator of the end of both of them, and the lord of the

place of the Moon the indicator of the outcome of the affairs of both of them.

[21] The twenty-first question. When the place of the matter is divided between two signs,
to which of them do you assign the indication of the matter ?

The answer. We look at which of the two signs has more degrees in the place of the mat-
ter, and this is the indicator of the matter. But you also do not leave out the sharing of the
other sign with it (the first) in this, even though the sign which is more in degrees is more
powerful in indication. If they are equal in degrees, the sign in which the beginning of the
place is, is the indicator of the matter, nevertheless many of the Ancients put the power (be-
ginning) of the place five degrees before it. But this is wrong in its operations, for this is done

only in the cardines, while some of them do not think that this is done in the ascendant {either).

[22] The twenty-second question and the answer. When a man asks you to elect a time of
journey for him and you do not know his birthday, you elect a time for him as far as you can,
and the indication of the nativity was indicating misfortune meeting him at that time which he
considers to be that of his going out, and his going out is (rather) imprisonment because of
the occurrence of that misfortune which his nativity necessitated without you knowing it (the
nativity), since you do not know his nativity, and because it is necessary that the election can-
not be assured for anyone unless one knows his nativity, and because it is necessary for him
or the nativity of his son (is necessary), then, since you know his (son’s) nativity, which evinc-
es for him an election of good fortune, both by its trine aspect to it, and by its sextile aspect
to it, until the prorogation arrives at the body of a benefic or (its) trine or sextile aspect, then
you choose an ascendant for him, for which there is participation with the lord of the term at
which the prorogation arrives. If this is one of the times of his good fortunes, then one oper-
ates what is fastest of the lords of the elections according to the amount of that matter for
which one makes an election, by which {(ever) fortunate election you choose for him. If he is
not someone whose nativity you know, but you know the nativity of his son, you look, if the

nativity is by day, from the predominant planet to the degree of the Sun; if by night, from the
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predominant planet to the degree of Saturn and the degrees of the fourth {(place) and the lot
of the father, and if the predominant planet is in these positions, prorogate with it until you ar-
rive at the body of a benefic or its trine or sextile aspect. Then elect for him at the time of
the terminal point in the way that we have explained in the case of his nativity. If this is not
assured, then the election is not assured, and for this reason we see the majority of wise men
sincere in the weakness of the explanation of the topic of election. The reason for this is what

we have explained before.

[23] The twenty-third question. When a person asks you to elect a journey for him, then
make secure for him the ascendant which is the indicator of the way, and the seventh (place),
which is the indicator of the city to which he travels, and the tenth {place), which is the indi-
cator of the activity he seeks in that city, and the cardine of the earth, which is the indicator
of its result, just as the learned men among the professionals have instructed. If the journey is
because of a raid or (something) in which he desires war and this election indicates peace and
the futility of war, is this election wrong for him ?

The answer. It is necessary for the man who you make an election for a journey that you
know what kind of journey (it is). For journeys are divided into various types: one is a jour-
ney for trade, another for pilgrimage or a similar religious cause, another is a journey to war,
another is a journey for peace, such as a king overseeing his territory, and you choose the rel-
evant election for each of these kinds. If the journey is for war or a raid or something similar,
you make the ascendant a tropical sign, becauses of the speed of movement, and Mars should
be provided with shares from the ascendant, since it is the planet of war, and one puts it in
the medium celum. It indicates that the war is for the lord of the ascendant, if it is provided
with shares by the war, and the fourth place and its lord are made fortunate for there to be
an indication for the fortunate outcome of the war — and so on for everything you instruct to
be elected for him. Then divide the instruction elected for him into what it is divided into. E. g,
the questioner asks the time of the taking up of landed property. Since real estate is divided
into two, either commercial places or residential placs, for commercial places it is necessary
that you make secure for them, at the time that he receives them, the ascendant and the
Moon and its lord, and the lords of the cardines, so that the benefics are in the cardines, and
the cardines are not indicating, and the benefics possess shares in the cardines especially in
the ascendant and fourth, and the malefics are cadent from the cardines, and the two luminar-
ies in an aspect of the fourth {place) from friendship become powerful, and the lords of the

cardines are not retrogressing, and there is no retrogressing planet in the cardines. Then the
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good condition of the fourth place indicates the good condition of the earth and the crops that
are in it, and the medium celum (the good condition of) all trees or hills on it, since it is the
indicator of its trees and hills, and the ascendant is the indicator of its owner and his benefit
from it and its buildings, and the seventh indicates its desolation and inhabitants and at the
same time wealth of its owner. If the real estate is camp cite, you make the fourth place a
fixed sign, and the cardines similarly, and the good fortune will be according to what we have
described. Let the lords of the cardines be eastern, increasing in movement, and raised in the
north. For this indicates fixity, the promotion of matters on it, and the good deed and its bene-

fit.

[24] The twenty—fourth question. What are the things for whose indicators you elect malef-
ics?

The answer. The things for whose indicators you elect malefics are {as follows): Mars is
elected for things in which you make an election for the issue of blood such as phlebotomy
etc., and you make the Moon apply to it, and then separate from it {(going) towards a benefic,
and be provided with shares from the ascendant. You also elect Mars in the case of a journey
to war (military expedition) — it should be in the condition which we described before this in
the previous question. As for Saturn, one makes an election (with it) for things through which
are wanted fixity and permanence of (things) which are of its kind, such as the cleaning of
rivers and putting down of foundations of dwellings, after it is in the direction[s] of the benef-
ics, and similarly in a treaty of a sovereign power ?. Ptolemy says: at the beginning of a treaty
of a sovereign power ? and of works in which there are bookkeepings, look at the Moon, and
do not make it fall from Saturn, but make it apply to it in trine or sextile (aspect) at the be-
ginning of the month, and put the Moon in a place of Saturn, and {(put) Saturn in respect to
the Moon in the positions which I have described, and make the benefics aspect the Moon. If
this is a sovereign power and authority whose lord enters into the operation which I have de-
scribed, it is a lasting authority. But the reverse, in the election of the majority of matters, is
the existence of the Moon in the burnt path —i. e. the last half of Libra and the first half of
Scorpio. And you make an election for taking laxative medicines when the Moon is in these
places, and if its lord is with its good fortune, in a cardine, and the (planet) giving it the good
fortune is cardinal and eastern, and make the lord of the ascendant like this, and make the
malefics cadent from the Mon and cardines, and make the Moon received by a benefic. But if

its lord is harmed, make its reception from trine.
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[25] The twenty-fifth question, belonging to the trick questions. When you are asked about
sick person, what condition comes to him, and the ascendant is Virgo, the Sun is in the ascen-
dant, Mars is in the sixth {(place), the benefics are cadent and the lord of the ascendant is in
the eighth (place), do you judge for him life or death ?

The answer. This question is impossible, because it is not possible for the Sun to be in the
ascendant and Mercury, as the lord of the ascendant, to be in the eighth {(place), because Mer-

cury is not distant from the Sun by more than 27 degrees.

[26] The twenty-sixth question. When the Moon is eclipsed in the sign of Aquarius and Sat-
urn is in Pisces in a wet lunar mansion, and Mercury and Venus, which are watery planets,
apply to it, and the duration of the eclipse is one and a half hours, it indicates much rain. How
long is the period from the time of the eclipse to the application of the Moon ?

The answer. This question is impossible because you only make a judgement on rain in the
times of rain, and, when the Moon is eclipsed in the sign of Aquarius and the Sun is in Leo,
and that is not in the times of rain, then one judges it, and one only judges from this the
blowing of the southern (winds) and the turbidity of the atmosphere when this is a time other

than that of rain.

[27] The twenty-seventh question. In the country whose altitude is sixteen degrees and in
which the maximum altitude of the Sun is ninety degrees, what is its length of the daylight
when the altitude of the Sun is ninety degrees ?

The answer. For this country there is not a day on which the atitude of the Sun is maxi-
mum i. e. ninety degrees on the longest day among them. The maximum altitude among them
is ninety degrees only when the Sun is in the middle of the sign of Taurus, which is likewise
the altitude when the Sun is in the middle of the sign of Leo, and this is a day which is
twelve and two thirds of an hour long. Their longest day is when the Sun is at the beginning
of the sign of Cancer, for their day on that day is 13 hours and the maximum altitude among

them on that day is 82 degrees in the northerly direction.

[28] The twenty—eighth question. DG r-Rumma said: He cut the land and I refused compul-
sion, as if At—turayya surrounds a crown of the head of a son of water. How much is the lati-
tude of these spots from the equator ?

The answer. The latitude of these spots is 19 degrees. Namely the latitude of at—turayva is 3

degrees to the north, and the declination is 19 degrees from Taurus. This is the degree in
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which at—turayya is 16 degrees. So that is 19 degrees and at-turayya is in the zenith there.

[29] The twenty-ninth question. When you want to know the height of a tree, or a wall or
what is similar to that in cubits.

The answer. You take the altitude of the Sun when you want and you enter with it into the
table of the shadow, and you know its shadow. Then you measure the shadow of the wall and
you see how many cubits this is. If the shadow which is in the table is divided into 12— these
are digits — you multiply what results for you from the measurement of the shadow by 12.
But if it is divided into 60 {parts) —i. e., minutes — then multiply it by 60, and you divide
what results into the shadow which results for you from the table, and what results is the

measurement of the wall or tree, or whatever it is.

[30] The thirtieth question. When you want to know how much is the most direct way be-
tween two cities in miles from the zig

The answer. If the longitudes of the two cities are equal, take the latitude between the two.
If the latitudes of the two are equal, take the longitude between the two. Then take 56 and
two thirds miles for each degree. The result is the distance between the two. If neither the
longitudes of the two nor their latitudes agree, take the longitude and the latitude between the
two, multiply each of them by its half and add both of them. Then take the root of this, and
the result is the most direct distance of the way between the two. According to some of the
old observers, it (a degree) is sixty-six miles. The first is more correct because it is what
Haba$ ibn ‘Abd Allah told on the authority of Yahya bn Abi Mansdr.

This is what I was able in this time to put together from my preserving according to the
condition on which and for which the letter was completed on Ramadan, of the year 555.

Praise to God and to Muhammad. God is our helper.

SENH
Charles Burnett, Keiji Yamamoto and Michio Yano, Al-Qabist (Alcabitius) : The Introduction to Astrology,
London, 2004.
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